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No No K4 B 4 Be R OBE R B R AA2b
1 128 Kk = KEFER 49.85 46.51 1:36.36 0.00
2 126 B 5 KEFER 52.76 4942 1:42.18 61.00
DID NOT START [1st RUN] 2
125 BIHES B
127 DR T BRI
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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No No K4 Fr B 4 S 157 = 157 N | = 155 D N GV N
1 143 (EVLI iy KEFER 4482 4113 1:25.95 0.00
2 137 i)l KEFER 4547 4091 1:26.38 5.05
3 145 I #Ek KEF B 4535 4111 1:26.46 5.99
4 135 BT Bt KEFER 4559 4091 1:26.50 6.46
5 130 rE o E AN A — A 4629  43.81 1:30.10  48.77
6 134 Ll R fRs o7 47.47 4339 1:30.86 57.70
7129 REl HZ JB5 1L T 5 4770 4585 1:33.55  89.31
8 147 TR EiE KEFER 50.90 45.85 1:36.75 126.91
9 148 aE AR KEFER 1:03.33 57.66 2:00.99 411.76
10 140 M 72— 7 M ARE 1:10.65 1:04.80 2:15.45 581.68
DID NOT START [1st RUN] 2
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DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 1
139 ¥ kA KB (W)
DISQUALIFIED [2nd RUN] 0
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